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Instructions for candidates
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Attempt Any Four questions
All questions carry equal marks

Explain three formats of business namely Brick & Mortar, Pure online, and Brick &
Click. Which format is gaining popularity these days and why?

Explain the nature of interaction between a business organisation and its
environment ( Micro, Meso, and Macro environment).

Explain the decision making techniques to enhance creativity in the organisation.
Suggest at least six techniques to support your answer.

“It is not advisable to control each and every aspect of organizational activities.”
Comment on the statement. Also discuss the relationship between Control and
Planning.

“No single leadership style is the best.” Comment on the statement. Also discuss
three broad styles of leadership.

Write short notes on Sociocracy, Flexi timings for work, and Workplace diversity.
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Attempt any Three questions.
All questions carry equal marks.

1. Discuss the panch bhuta or five elements as understood by the Santhals.

2. How do you differentiate between woman centric and man centric folk tales? Explain
with an example.

3. What is shadow theatre and how is it different from other forms of performance? Explain
with reference to the tolu bommalu kattu.

4. Discuss the relationship between political patronage and the cult of Jagannatha of Puri.

5. The idea of Gandhi’s Dandi March and Nehru’s Republic Day Parade represent two
different trends of nationalism in India. Elaborate.

6. Describe the South Asian origin and meanings of chess.
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Attempt Any Four Questions. All questions carry equal marks.

1. Why it is necessary to understand the difference between Capital Expenditure and
Revenue Expenditure and between Capital Income and Revenue Income?

2. “Joint venture is different from partnership” How? Also explain different mode of
commission under Consignment Agreement.

3. You have recently joined Rahane Enterprises as an accountant and have been asked to
prepare Trading and Profit and Loss Account for the year ending 31% March, 2020 and the
balance sheet as at that date from the following trial balance on 31* March, 2020 after giving
effect to the under-mentioned adjustments:

Debit Balance Amount | Credit Balance Amount
(Rs.) (Rs.)

Land and Buildings 50,000 | Capital 2,00,000

Plant and Machinery 20,000 | Reserve for bad and doubtful 500

debts

Sundry Debtors 33,000 | Sales 4,60,000

Packing Charges 800 | Sundry Creditors 25,100

Bad Debts 2,500 | Bank Overdraft 50,000

Drawings 12,000 | Interest on Investments 11,600

Wages 31,000 | Bills Payable 9,200

Stock 25,600 | Interest on Loan to Sehwag 600

Loan to Sehwag 8,000

Rent 10,000

General Expenses 2,900

Investments 1,20,000

Purchases 3,20,000

Freight Charges 4,200

Sales Return 4,200

Insurance 1,800

Cash and Bank 7,400

Balance

Postage and Telegram 7,600

Goodwill 80,000

Bills Receivable 12,400

Rates and Taxes 3,600




| Total

7,57,000 | Total

7,57,000 |

Adjustments:

1.

2.
3.
4

o

6.

7.

Closing Stock as on 31.3.2020 Rs. 32,000.
Rent Outstanding Rs. 2,000 and Prepaid Insurance Rs. 600.

Depreciate Land and Building by 5% and Plant and Machinery by 12%.
. Further bad debts were estimated at Rs. 700. Increase reserve for bad debts to Rs.

3,000.
25% of the Goodwill is to be written off.
Goods worth Rs. 1,400 were sent on 25.3.2020 as “Sale on Approval Basis” for Rs.
1,600 and the approval was not received before the end of the month.

Goods worth Rs. 1,600 were distributed as free samples.

4. Prepare Hire Purchase Trading Account along with associated accounts

G). e o o o

5.

Adjustment Account as they would appear in the book of Head Office:

Cash Received from Hire Purchasers

Goods Repossessed from Hire Purchasers (Due Rs. 10,000)

Expenses on Installment Collection

Sale value of Goods sold in previous year but

installments fall due in current year

Value of Installment due in previous year but

could not receive in previous year

Installment due in current year but not received
Stock at shop at the begin of the current year

Purchase of goods

Cost of goods sold in cash

Unsold Stock at Shop at the end (Excluding Repossessed)
oods were sold at Cost +25% profit on Cost.

Rs.
1,90,000
6,000
2,000

40,000

25,000
15,000
50,000
3,00,000
40,000
60,000

Surya traders of Delhi has a branch in Jaipur, where goods are invoiced at cost plus 50
percent. From the following particulars prepare Branch Stock Account and Branch

Branch Debtors at beginning of the year
Opening stock at Branch
Furniture at Branch at the beginning of the year
Cash sale at branch

Credit sale at branch

Goods received from head office during the year

Goods in transit at the end of the year

Cash Received from branch debtors by branch
Cash received from branch debtors by H.O.
Goods returned by branch debtors to branch
(it was sold at Invoice+1/3rd of Invoice)

Goods returned by branch debtors to H.O. (it was sold at Invoice price)
Normal loss of stock at branch

Abnormal loss of stock at Branch

Unsold stock at branch at the end of the year (excluding returned goods)

Rs.
7,00,000
4,00,000
9,00,000
35,00,000
50,00,000
65,00,000
5,00,000
35,00,000
5,00,000

2,00,000
90,000
5,000
30,000
17,00,000



6. A, B, and C shared profits and losses in the ratio of 5:3:2 respectively. On December
31, 2019 their balance sheet was as follows:

Liabilities Amount (Rs.) | Assets Amount (Rs.)
A’s Capital Account 1,50,000 | Cash 5,000
B’s Capital Account 1,00,000 | Stock 2,40,000
C’s Capital Account 50,000 | Furniture 55,000
Trade Creditors 1,50,000 | Profit and Loss Account 2,00,000
Bank Loan 50,000

Total 5,00,000 | Total 5,00,000

The bank had a charge on all the assets. Furniture realized Rs. 15,000 while the entire stock
was sold for Rs. 1,25,000. B’s private estate realized Rs. 30,000; his private creditors were Rs.
25,000. C was unable to contribute anything. A paid one third of what was finally due from
him (taking the payment also into account) except on account of other partners. Prepare
Realization Account, Cash Account and Partner’s Capital Accounts, passing all matters
relating to realization of assets and payment of liabilities through the Realization Account.
Clearly show your calculation regarding cash brought in by A.
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Attempt Any Four Questions. All questions carry equal marks.

1. “Depreciation is provided to not only cover capital expenditure during the span of
Assets life, but also to accumulate required funds for the replacement of the PPE” Explain this
statement. Also differentiate two popular method of depreciation with suitable figures.

2. “A systematic procedure has been adopted for the issue of Accounting Standard in

India” Justify this statement.

3. The following are the details furnished by ASHA CLUB. You are required to prepare
balance sheet as at 31-3-2019 & 31-3-2020.

RECEIPT & PAYMENTS ACCOUNT for the year ended 31% March2020

Receipts Amount (Rs.) | Payments Amount (Rs.)
Cash 3,400 | Salaries 12,100
Bank 12,400 | Insurance 3,150
Entrance Fees 14,500 | Furniture purchased 5,300
(30.9.2019)

Subscription for Year 3,200 | Postage 2,550
2017 -2018

Subscription for 44,500 | Printing and 6,750
Year2019-2020 Stationery

Sale of old 1,100 | Sundry Expenses 4,500
Newspaper

Lecture Meet fees 3,800 | Cash 13,500
Sale of furniture 5,650 | Bank 15,600
(1.10.2019)

Total 85,550 | Toal 88,550




Income & expenditure account for the year ended 31 March 2020
Particulars Amount | Particulars Amount
(Rs) (Rs)
To Salaries 12,100 | By Entrance Fees 14,500
To Insurance 3,150 | By Subscription :
To Postage 2,550 | Received 44,500
To printing and Stationary 6,750 | Add: Outstanding 5,500 50,000
To Sundry Expenses 4,500 | By Lecture meet fees
) Received 3,800
To Members meeting expenses 25,100
o ) . Add: Outstanding lecture
To depreciation (furniture@10%) 515 meet fees 1,200 5,000
To depreciation
(Machinery@20%) 2000 By Sale of Newspapers 1,100
To depreciation (Building@10%) 10,000
To excgss of income over 4,835 By Profit on sale of furniture 900
expenditure
71,500 71,500
Particulars As on 31-3-2019 As on 31-3-2020
Subscription due and 4,000 ?
outstanding
Club building
1,00,000 90,000

Bombay Okara Corporation Ltd. Purchased on 1% January 2015 from Delhi Motors five
trucks costing Rs. 50,000 each on the hire purchase system. The payment was to be made as:
10% of cash price down and 25% of cash price at the end of four subsequent half years. The
payment due on 31% December 2015 could not be made and hence the trucks were by the

vendor.

But after negotiation, the hire purchaser was allowed to keep three trucks on the condition
that the value of the other two trucks would be adjusted against the amount due, the truck
being valued at cost less 25% depreciation. Bombay Corporation closed its books on 30 June




every year and the depreciation is charged at 15 % p.a. on the original cost. The vendor
spent Rs. 10,000 on getting the trucks thoroughly overhauled and sold them for Rs. 90,000.
Show the various accounts in the books of both parties.

5. Magnum Ltd. has a branch in Agra. Goods are sent to Branch at 25% profit on cost.
Following information are available by Head office in Delhi in connection with this
Branch.

Opening Balances: Rs.
Stock (Invoice Value) 20,000
Branch Debtors 10,000
Furniture 10,000
Petty Cash 500
Transactions during the year;
Goods sent to Branch 1,20,000
Goods in Transit 10,000
Goods returned by Branch 10,000
Goods returned by branch customer 5,000
Cash sale 65,000
Credit Sales ?
Bad Debts 500
Discount allowed 500
Collection from debtors 44,000
Cash sent by Head office for

Rent 2,000

Salary 2,500

Petty Cash 1,000 5,500
Closing Balances:

Stock 25,000

Branch Debtors 15,000

Furniture 9,000

Petty Cash 400

Prepare: Branch Debtors A/c, Branch Stock A/c, Branch Adjustment A/c and Branch profit
and loss Alc.



6. A, B and C were three partners in ABC Associates sharing profit and loss in the ratio 2:2:1.
Following is the balance sheet of the firm.

Liabilities Amount X | Assts Amount
A's Capital 60,000 | Cash 2,000
B's Capital 50,000 | Furniture 10,000
B's Loan 10,000 | Plant & Machinery 15000
Mrs. A's loan 12,000 | Land and Building 40,000
Bank loan 15,000 | Stock 18,000
S. Creditors 19,000 | Debtors 20,000
Outstanding Rent 4,000 | C's Capital 40,000
Profit and loss A/c 25,000

1,70,000 1,70,000

Due to continues loss from the last three years they decided to dissolve the partnership firm.
For this purpose, assets were realized as follows

Land & Building for X 50,000

Plant and Machinery X 12,000

All the Stock were taken over by Mrs. A in full settlement of her due

Debtors of X 5,000 were bad, rest were realized fully.

Furniture were taken by bank loan at an agreed price of X 12,000, remaining bank loan
were paid in cash. All the liabilities paid in due course.

You are required to prepare realization account, partners’ capital account and cash account.
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Attempt Any Four Questions. All questions carry equal marks.

1. “In the determination of profit or loss of a business during a year, it is very necessary to
distinguish between capital and revenue expenditure and capital and revenue receipts”.

Explain with example.

2. The following information is given:

a) The Balance Sheet of M/s A and B

b) The cash transactions for 12 months to 31* March 2020

c) A summary of the remaining transactions for the year

(A)
Bank Overdraft

Sundry Creditors

Bills Payable
Capitals-A 1,10,000
-B 90,000

(B)

Rs 5,000 Cash in Hand
36,000 B/R
16,000 Sundry Debtors
Stock
2,00,000 Plant and Machinery

Land and Building

Rs 700
25,000
39,000
75.300
47,000

70,000



To Balance (1-4-2019) 700 By Overdraft (1-4-2019) 5,000

To Receipts from debtors 2,90,000 By Salaries 12,000
To Bills Receivables 1,00,000 By Wages 15,800
By Bills payables 1,43,000

By Payments to Creditors 1,47,000

By Office Expenses 8,000

By Drawings-A 25,000

-B 20,000

By Balance (31-3-2020
In hand 2,400

In bank 12,500 14,900

©)

Sales Rs 4,07,000
Discount to customers 2,000
Purchases 3,00,000
Discount from Suppliers 1,000
B/R received during the year 1,09,000
B/P issued during the year 1,50,000
Stock(31-3-2020) 53,000

Reserve for doubtful debts 5% on debtors outstanding. Provide depreciation on plant and machinery at
5% and on land and building at 2.5%

From these particulars, prepare Trading and Profit and Loss Account for the year ended 31* March 2020
and Balance Sheet as on that date.

3. Dasmesh Ltd. purchased machinery for Rs. 3,84,000 on 1% May 2016 and spend Rs. 16,000
on its installment. On 1% September 2016 additional machinery costing Rs. 1,60,000 was



purchased. On 1% June 2018, the machinery which was purchased on 1% May 2016 having
become obsolete and was sold for Rs. 1,45,000 and on the same day new machinery was
purchased at a cost of Rs. 3,40,000. Depreciation was provided annually on 31 March at the
rate of 10% p.a. on the original cost of the machinery. Pass journal Entries and Show
machinery account in the books of Dashmesh Itd .

. Jai Bharat Ltd sold 3 cars for a total cash price of Rs. 6,00,000 on hire purchase basis to
Vinod on 1% April 2016. The terms of agreement provided for of Rs. 2,70,000 as cash down
and the balance of cash price in 3 equal installments together with interest at 10% per annum
compounded annually. The installments were payable as follows:

1% installment on 31 March 2017, 2" installment on 31 March 2018 and 3" installment
on 31* March 2019. Vinod paid the first installment on time but failed to pay thereafter. On
his failure to pay the second installment, Jai Bharat Ltd. repossessed two cars and valued
them at 50% of the cash price. Vinod charges depreciation @10% p.a. on straight line
method. Pass journal Entries in the books of Vinod and prepare Jai Bharat Itd.’s account and
Goods repossess account in the books of Jai Bharat Ltd. for 2016-2018

5. Arvind of Mumbai invoices goods to its branch at Goa at cost plus 50%. From the following
particulars prepare Branch Stock account, Branch Adjustment account and Branch profit and loss
account as they would appear in the book of the head office :

Rs.
Goods sent to branch 75,00,000
Cash sale by branch 5,00,000
Credit sale by branch 68,00,000
Return of goods by branch customer to branch 50,000
Return of goods to head office by branch 3,00,000
Goods pilferages at branch 45,000
Normal loss of goods at branch 9,000
Opening stock at Branch 1,50,000
Opening debtors of Branch 1,00,000
Closing stock at Branch 7,50,000
Branch Salary paid by head office 30,000
Outstanding salary of branch staff 5,000
Branch rent paid by Branch 20,000
Furniture purchased by branch on the instruction of H.O. 50,000
Petty expenses paid by branch 15,000
Cash received from branch debtors 60,00,000

Provide 10% depreciation on furniture

6. A, Band C trade in partnership sharing profit and losses in 2:2:1. They decided to dissolve the
firm with effect from April 1, 2020. On this date, firm has the following balance sheet.

Liabilities Amount | Assets Amount




Rs. Rs.

Bank Loan (unsecured) 40,000 | Plant and Machineries 35,000
Sundry creditors 1,00,000 | Land and Buildings 90.000
General Reserve 6,000 | Furniture and fixtures 15,000
A’s Capital account 64,000 | Stock in trade 20,000
B’s Capital Account 50,000 [ Sundry debtors 70,000
C’s Capital Account 35,000 | Investments 40,000
Cash and Bank 25,000

2,95,000 2,95,000

Firm paid its dues as and when it realized cash from the assets.
Assets (excluding cash and bank) were realized in this manner

On April 15, 2020 70,000
On May 05, 2020 75,000
On June 18, 2020 40,000
On July 07, 2020 50,000

If distribution among partners is to be made after each instalment of realization, as far as possible,
prepare a statement showing the distribution to the partners at each instalment. Apply the Surplus
Capital Method
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Attempt Any Four questions.
All questions carry equal marks.

foreel IR weat & 397 dfov|
Tt geaT & 3 AT

1. Analyze the nature, significance and relevance of Political Theory.

Tt Rigia 1 yehfaY, Fgcd Td Irafiehd T faResor HfE |

2. What do you mean by liberty? Examine the relation between liberty and equality.
TIGFAT T 3T FIT GHASIY §2? TaaIdr 3R AT & ST & ool & TWIeTor

Hrioy|




. Critically examine Rawls’s theory of justice.

e & =1 FAGUTd T TeTaaTcAs q&ToT R |

. What is Gender? Discuss in the light of the statement ‘The personal is political’.

SISt FAT & 2 ‘Tl &1 Uolai e &' 39 Yl & HGH H ST [addaT hiford|

. What is citizenship? Discuss the various stages of development of the concept of
citizenship.

ARIRGAT FAT § ? AFIRSAT & 3aUROT & [Fed & [Affe = w ==t
HIfaT |

Do you agree that democracy and economic growth are compatible with each other?
Discuss.

T 3T TEA © Toh dAlehca 3R 31Tk e el Teh GAR & 3Helehel o7 Tl hiford |
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Attempt Any Four questions.
All questions carry equal marks.
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1. What is globalization? Do you believe that globalization as a process has begun to
reverse in the 21 century? Comment.
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http://b.com/

. “Like all popular concepts meant to cover a variety of phenomena, both
‘interdependence’ and ‘globalization’ have many meanings”. Give your comments in
context of this statement made by Keohane and Nye.

T pfoT 3EURUM3T f Rg [(Affiea geanit & ¥ Fa & oy,
TR fARar AR JediRor & & 7Y g1 FeA AR A1 garT Gw v 59
FUT & TS H 39T feogoly &)

. What is the radical approach to globalization? How is it different from the liberal
approach?

JdTaUT & FeexudT TREHIUT FAT §2UE 3R ThReHOT T F 3179 &2

. What are the critical dimensions of economic globalization and political
globalization? Illustrate your answer with examples.

e dedieor AR Towlfae  dedENeT & AgcaqUl IR FT g2
3CTEYUIT & WY 370 3T & quTel |

. The idea of inevitability of globalization applies equally to both the developed and
developing world. Give your arguments for or against this statement.

FRAHOT T JfAadar # R fefda AR e g aat )
AT & ¥ o6 @11 81 39 & & fav a1 38 f@ensd 3r9a o &

. Do you think the Covid 19 pandemic is altering the pattern of human migration,
especially in light of the emerging work-from-home culture? Analyze.

FIT YR 91T g 6 pifag -19 AHN AT yard & U &l 9 WY
g, [99Y §7 O 3T g-T-F1H & Yh1T H?
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1. Answers should be written in Sanskrit or in Hindi or in English but the same medium
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Sanskrit A: Sanskrit Literature
LOCF, B.Com (P), Sanskrit
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should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each ques-
tion contains equal marks.

1. TRATIEEr ST UT I F HE<d T T wor hifor |

Analyze the importance of efforts according to Hitopadesha.

2. “AYAH, &, THAT AT AATHAT il Towar Ta ‘o= &1 "gea’ 9 fevuoft forfer |
Write short notes on ‘ill fame of youth, money, kingship and ignorance’ and ‘Importance of

Knowledge’.

3. HEHA-TI-AIReT % IGd o T IT ThTer STery |
Throw light on origin and development of Sanskrit prose Literature.

4. AT AT % ATAT (AT F Tg<d 7 A0 it |

Describe the importance of knowledge according to Chanakyaniti.

5. TSI UF FATTaer FT =T T Ao |
Give the introduction of Dandi and Hitopadesha.

6. =TT HIfq & YR W Slaed & 91 HETh ded U A1 T AT IT

feoooft ferfera |

Explain ‘Five important things in life’ and ‘Importance of equality’ on the basis of

Chanakyaniti.
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Answers should be written in Sanskrit or in Hindi or in English but the same medium
should be used throughout the paper.

There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

SATATEI TG o ST TT THLT HT AU I |

Describe I$avara according to the ISavasyopanisad.

SATATEATAA TG o ATHTL SA<h T T HHAET o HF F49T GhdT 57

How can a person save himself from karmabandhana according to ISavasyopanisad.

TATATEATIAYE T AT 39 ereal | forfam)

Write the summary of I$avasyopnisad in your own words.

AT % B steamar § o0 7 AT F TaE T H FF THATAT 872

How has Sri Krishna explained about Atma in the second chapter of Gita ?

AT F G steamr & e uX 99 i g & aasrs T |
Explain the concept of Equanimity on the basis of the second chapter of Gita.

. 3frar F e st T FT A B ?

What is the significance of the second chapter of Gita ?
1
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Name of the Paper : Company Law OC (Nov/Dec) 2020
Name of the Course : B.Com (Programme)

Semester |1

Duration: 3 hours Maximum Marks: 75

Instructions for Candidates

Note: Answers may be written ejther in English or in Hindi; but the same
medium should be used throughout the paper.

Attempt any four questions.

All questions carry equal marks.

Q1. Suvan holds 99 shares (out of 100) in Alex Furniture (Pvt.) Ltd, while one
share is held by Priyam. Suvan is also the substantial creditor of the company.
Suvan is managing director of the company and he insured the raw material of
the company in his own name. Unfortunately, fire breaks in the factory and the
entire stock of wood gets destroyed. Can Suvan claim the compensation from
the insurance company? lllustrate your answer with relevant case law. Also
explain other features of a company citing examples.

Q 2. “An outsider is presumed to know the constitution and the statutory
public documents of a company, but not what may or may not have taken
place within the doors that are closed to him.” Explain with reference to the

Doctrine of Indoor Management. State its exceptions.



Q 3. X, Y and P jointly purchased a constructed property at Rs 35,00,000 in
June 2015. In November 2015, they promoted a company and sold this
property to the company at Rs 65,00,000. Are they supposed to disclose this
profit to the company? What are the other obligations that they must fulfil
standing in a fiduciary relationship with the company? Also mention various
instances covered by Companies Act for which promoters are held personally
liable.

Q 4. A public company proposes to purchase its own shares. Can it do so?
State the source of funds that can be utilised by the Company for purchasing
its own shares and the requirements to be complied with by the company
under the Companies Act before and after the shares are so purchased.

Q 5. The board of directors of Swati Pvt. Ltd. had planned to meet on 15th
May 2020 but due to Corona pandemic they decided to meet virtually on a
meeting app to discuss the future course of action to be taken about their
employees welfare and conduct of the business. Is such a meeting valid?
What are the requirements to be fulfilled for organising such meeting through
video conferencing? How are the minutes of such meetings recorded and

approved by board members?

Q 6. There are only two members of a company. They are also the directors
of the company. Both are not on speaking terms. Can the company be wound-
up on this ground? Give reasons. Discuss in detail the circumstances under
which a company may be compulsory wound up by the Tribunal under the

Companies Act.
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Name of the Paper : Company Law (Nov/Dec) 2020
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Duration: 3 hours Maximum Marks: 75

Instructions for Candidates

Note: Answers may be written ejther in English or in Hindi; but the same
medium should be used throughout the paper.

Attempt any four questions.

All questions carry equal marks.

Q 1. The concept of separate corporate entity is a cardinal principle of
company law. Elucidate the statement citing relevant case laws.

Q 2. ‘While the power to alter the articles of association is wide, the
Memorandum of Association is an unalterable document of a company’. How
far you agree or disagree with the statement? Explain citing the provisions of

the companies Act 2013 and relevant case laws in this regard.

Q 3. XY Ltd. has issued 10 crore equity shares of Rs 10 each at Rs 15 per
share. On March 31, 2020 it has free reserves of Rs 15 crores. The company
wants to purchase some of its shares. Can the company do so? If yes, then

how much shares can be purchased back? What are the sources and methods



of doing so? Also discuss the conditions laid down by the Companies Act 2013

in this regard.

Q 4. ‘The powers of the directors can be exercised only in a board meeting'.
Do you agree? What are those powers which can be exercised? Are there any
limitations on those powers? Discuss in the light of provisions of the
Companies Act 2013.

Q 5. What is the meeting of members of a company which is required to be
called every year after the closing of the year? What is the purpose of such
meeting? Discuss the statutory requirements and other provisions of the
Companies Act 2013 in this regard.

Q 6. Can a company be wound up by the orders of the National Company
Law Tribunal? If yes, what could be the grounds of such order? Explain the

provisions of the Companies Act in this regard.
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Note: Attempt any four questions. All questions carry equal marks.

Q.1. “Sometimes cybercriminals may target computers with viruses first. Then, use
them to spread malware to other machines or throughout a network.” Discuss.

Q.2. Elaborate the term forgery in cybercrime? What do you do in case of cyber fraud?

Q.3 Differentiate between encryption and decryption. Also explain the concept of public
key and private key along with diagram.

Q.4 State provisions to strengthen electronic governance under the IT Act,2000. State
some of the projects under Digital India Initiative.

Q.5 Explain the functions of Controller of Certifying Authorities(CCA) under the IT Act,
2000? What is the procedure for grant or rejection of license by Controller of Certifying
Authorities(CCA)?

Q.6 “The Appellate Tribunal has the same power as a Civil Court but an aggrieved party
may appeal to High Court” Comment
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Note: Attempt any four questions. All questions carry equal marks.

Q.1. “A computer compromised by malware could be used by cybercriminals for several
purposes.” Discuss.

Q.2. Who are the computer vandals? How can vandalism be controlled?

Q.3.Discuss different methods of Securing Computer Data. What was
wannacryransomeware. How can we prevent from the infection?

Q.4 Explain time and dispatch of and receipt of electronic Record. What do you mean
by term Secure Electronic Record and Electronic Signature?

Q.5 Explain the authorities provided for the effective implementation and enforcement of
the provisions of the Information Technology Act, 2000.

Q.6 (i)A person knowingly or intentionally conceals, destroys or alters any computer
source, computer programme, computer system or network. Is such an act offence? If
so, what is the punishment.

(if) Explain the meaning and punishment for publishing or transmitting obscene material
in electronic form.
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Note: Attempt any four questions. All questions carry equal marks.

Q.1. what are the best ways to protect your computer and your personal data from
cyber criminals?

Q.2.Discuss the various aspects of Cybercrimes related to online Social Media.

Q.3 Discuss various Government initiates for promotion of Cyber Security. Define any 5
terminologies of under IT Act.

Q.4 Differentiate between digital signature and Electronic Signature. State the content
of digital signature certificate.

Q.5 Who issues the digital signature certificate? Explain the duties performed by such
authority.

Q.6 Compare ‘Cyber contraventions’ and ‘Cyber offences’. Can all types of cyber
offences be compounded?



Question Paper 1

UPC: 52031902

Name of the course: BCom Programme

Name of the paper: English Fluency

Semester: 111

Marks: 75

Time limit: 3+1 (one hour reserved for downloading of question paper, scanning and
uploading of answer sheets)

Students will attempt any THREE questions.
All questions carry equal marks (25).

Q. 1.

Read the Passage A given below to answer the questions that follow:
Passage A

The mechanical clock was invented in the Middle Ages. Who made the first one and when is
not known but it was around the end of the 13" century. In 1309 a clock was recorded in a
church in Italy. The oldest working clock in the world is in Salisbury Cathedral. It dates from
1386 and it has no dial. Instead it chimes the hours. (Our word clock comes from the Latin
word for bell 'clocca).

Early clocks were normally in churches and they were very heavy because they were worked
by weights. However about 1450 the coiled spring was invented and it made possible
portable clocks. The first watches were made in 1510. In the 16™ century some rich people
had clocks in their homes but they were very expensive.

Early clocks were not very accurate but in 1657 Christiaan Huygens introduced the
pendulum. Clocks became far more accurate though they were still set using sundials.

In the late 17th clocks with long cases were made. In 1876 a man named Henry Clay Work
wrote a song called My Grandfather's Clock and in the early 20th century they became
known as Grandfather clocks. Meanwhile the cuckoo clock was invented c. 1775. The
stopwatch was invented in 1776 and the electric clock was invented in 1840. The quartz
crystal clock was invented in 1929 and the atomic clock was invented in 1955.

The first known clock maker in America was Thomas Nash (1589-1658). He was located in
New Haven, Connecticut in 1638. There were, of course, many other clock makers in North
America in the 17th century and 18th century.

In Britain each town had its own time and it was not standardized until the 1840s with the
coming of the railways. International time zones including Greenwich Mean Time were
formed in 1884.



Watches were very bulky until ¢.1675 when the spiral hairspring was invented and modern
pocket watches evolved. The electric watch was introduced in 1957 and the quartz crystal
watch was introduced in 1967.

a. Based on your reading of the passage fill in the blanks for the following statements.
(2x5=10 marks)

1. The first known manufacturer of clocks is

2. The in the world is in Salisbury Cathedral.
3. is one of the International times zones.
4
5

. Thomas Nash was based in city.
. Today’s clocks have improved significantly since their invention in the
century.

b. Write a summary of the passage in your own words in not more than 150 words.
(15 marks)

Q. 2. You have asked your mother to learn to operate a computer. Write a dialogue between
her and you giving details about the conversation. (25 marks)

Q. 3. Write a debate (Favouring or Against the motion) on the given topic as per the points
that follow:

Being able to make digital payments is a boon for Indians.
You may use the following tips:

1. Write an overview of the topic and opening statement.

2. Give two facts/anecdotes in support of your opinion.

3. Write two questions which you think your opponents might ask you on the basis of
your presentation. (25 marks)

Q. 4. Write a letter to your cousin and invite him for a family vacation you have planned. (25
marks)

Q.5.
a. Imagine you have to convince people around you that Corona or no corona, hygiene is
important Use your imagination, brainstorm and plan a rough draft on this topic. (10
marks)

b. Develop the draft prepared above into a proper paragraph. (15 marks)
Q. 6. Use appropriate punctuation marks and proofread the following paragraphs:
a. have you ever played tape the tail on the donkey we played it at my birthday party its easy

and fun first mom taped a big picture of a donkey up on a wall next she blindfolded the first
player (10 marks)



b. Write a creative piece on the topic: one day in my life without my phone. (15 marks)
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UPC: 52031901

Name of the course: B.Com. Programme (LOCF)

Name of the paper: English Language Through Literature
Semester: 3

Marks: 75

Time limit: 3+1 (one hour reserved for downloading of question paper, scanning and uploading
of answer sheets)

The paper contains 3 unseen passages.

Questions 1 and 2 are based on passage 1.

Questions 3 and 4 are based on passage 2.

Questions 5 and 6 are based on passage 3.

Students will attempt any THREE out of SIX questions.

All questions carry equal marks (3*25=75 marks)

Passage 1: [740 words]

Ever since I was a child of eleven, I had lived with and by the side of Tilak...What I am today is
because of him. If he wished to reach a goal, | was there to help him to it; if he wrote a poem |

was there to sing it; if he had to beg, I was there to carry the begging bowl...

But now he who had held the strings of my life had left me. A new world sprang up around me.

A new life began.

| could not live in Bombay by bhajans and kirtans. The missionaries offered me a job that was
made for widows. Most women who lose the prefix “Saubhagyawati” (married woman
automatically become matrons of girls’ hostels. I became a matron at forty-five rupees a month
with spacious living space and permission to keep my family with me. | cannot describe my joy.
It is true Tilak was no more; but at least | had my children, Dattu and Baby, and my daughter-in-

law Ruth, with me...
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And so | stepped into the kindergarten class. | began to learn the alphabet. | had to check
accounts written in English. Dattu used to be out at work, Baby at college, and Ruth was away at
her parents’. So they gave me a key to the accounts. They taught me numbers and showed me
how I could recognize grocery items by their initial letters. C was coconut, S was sugar, P was

potatoes, and T was tea. That is how | managed to check the accounts and sign for them.

One of my jobs as matron was to open the mail and read it before passing it out to the girls. I’d
get Dattu or Baby to read out the English letters to me. The world had always been kind to me.
Nobody had ever refused me help. Even here there were many who helped me. There were about
250 girls in the hostel. Some of the older ones had volunteered to take over some of my chores
completely. They swept and dusted, dealt with the washerman and kept an eye on the bhakri

makers.

Madamsahib was in the habit of making two visits a day, though I wasn’t sure why...But | was
told by the girls that the matron was expected to whisper complaints in madamsahib’s ear twice a
day. The whisperings might, for instance, be about the secret letter this one had received, or the
secret glance that one had cast; about how this one had answered back or how that one was not
on speaking terms with the other one. The whispering over, punishments would be meted out to

fit every crime.

But how could all the girls be alike? Two hundred and fifty girls from 250 homes. Even children
born of the same parents are so different from each other. And that is the fun of it. What would
we have done with 250 Pune dolls? If there is no wickedness, how is goodness to be recognized?

Certainly, many of the girls were mischievous. They picked up pranks from each other. One
evening during study time I thought I heard men’s voices upstairs. I went up to investigate, but I
only saw girls. As I came down, I again heard men’s voices. [ went back up and once again I
could see only girls there. | thought I was going crazy. Finally one girl felt sorry for me and let

out the secret. She even spoke in a man’s voice to show me how...

One day a girl asked me to let her see the mail. This wasn’t allowed, so I didn’t show it to her.

She instantly made it the mission of her life to harass me. She carried her intention to the point of
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burning up my saris in a heap of dried leaves and twigs. I could smell cloth burning but couldn’t

think what it was.

I hadn’t shown the girl the mail because it often contained anonymous letters full of obscenities.
| used to burn these letters without showing them either to the management or to the girls for
whom they were meant. If | had shown them to the authorities, the concerned girls would have
been immediately punished. If I had shown them to the girls, their minds would have been

adversely affected. So I thought it better to make burnt offerings of such letters...

1. This question has two subparts, A+B. Both have to be answered:

A. The writer of the autobiographical passage 1 is a strong and independent woman. Do you
agree with this statement? Give a reasoned answer in 250-300 words. (10 marks)

B. Imagine you are the writer of Passage 1, and you are applying for the position of Matron in
the local Girls” Hostel. Draft a Statement of Purpose in 350-500 words which outlines why you
think you are a suitable candidate for this job. (15 marks)

2. This question has two subparts, A+B. Both have to be answered:

A. Why do some of the girls in the hostel (in passage 1) rebel against the writer? Are their acts of
rebellion justified? Give a reasoned answer in 250-300 words, with reference to passage 1.

(10 marks)

B. Write a dramatic extract based on the incident in the passage where the girls trick the matron.
You must include at least two characters and answer in about 350-500 words. (15 marks)

Passage 2: [760 words]
Mpr Patel’s voice reading out a letter. Sound of typing.

CHANDRAKANT PATEL. Dear Dr Devraj Gowda. Thank you so much for your response to
my letter. Thank you also for giving me so much information about yourself, your good wife
and your daughter, Lata, who is a very talented and educated girl, thanks to your gracious
nature. You have asked for more details about myself, my family and of course my son,
Alpesh, for whom, as | mentioned in my first letter, | am seeking a matrimonial alliance.

... Fade out Patel’s voice. Interior. Rustle of papers.
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DEVRAJ GOWDA. (reading out from Patel’s letter). ‘I am returning the photograph of your
daughter Lata which you had kindly sent. I am also enclosing a photo of Alpesh. Please do let
us know if 21st and 22nd September are suitable to you to receive us. It is better that we meet
personally for all parties concerned, to do the needful. Yours sincerely, Chandrakant Patel.’

PREMA GOWDA. No!

DEVRAJ GOWDA. | knew you would say that.
PREMA GOWDA. We should call the Raos again.
DEVRAJ GOWDA. They did not respond to our letter.

PREMA GOWDA. Maybe they haven’t received it. (Pause. Weakly.) We had four responses
from Gowdas.

DEVRAJ GOWDA. If we had put our names in the advertisement, there wouldn’t have been
any. | think you are fooling yourself.

PREMA GOWDA. This stupid girl! It is my fault. [ shouldn’t have helped you with the
nursing home. | should have been a proper housewife.

DEVRAJ GOWDA. Good. | am glad you realize your mistakes.
PREVIA GOWDA. Go jump in a well!

DEVRAJ GOWDA. Maybe if we were living with my parents, they would have kept an eye
on her.

PREMA GOWDA. Go on. Say it. | am the wicked woman. | am the woman who stood up for
my rights and told my mother-in-law what | thought of her. I am the one who talked my
husband into leaving his father’s home and setting up his own. It is all my fault now. Right?

DEVRAJ GOWDA. Okay. Okay. We are both to blame.

Pause.

PREMA GOWDA. Do you think it will work with these Patel people?
DEVRAJ GOWDA. Who knows?

PREMA GOWDA. They seem desperate.

DEVRAJ GOWDA. We are desperate.

PREMA GOWDA. He is thirty-plus and divorced.

DEVRAJ GOWDA. She is twenty-four and notorious.

Pause.

PREMA GOWDA. Hmm
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DEVRAJ GOWDA. After all, if they can consider an inter-caste marriage, they must be
broad-minded, like us.

PREMA GOWDA. Or really, really desperate. (Sighs.) I can’t do this to Lata! He is divorced,
and there’s no mention of his education. Lata is so well-read!

DEVRAJ GOWDA. He is richer than we are.
PREMA GOWDA. When do they want to come?

DEVRAJ GOWDA. 21st and 22nd September. We can take them to the farm. That will
impress them.

PREMA GOWDA. The photograph doesn’t say very much of him. [ mean, he isn’t standing
in front of the Eiffel Tower or Big Ben. (After a while.) It’s worth a try.

DEVRAJ GOWDA. Then I will confirm with them?

PREMA GOWDA. We need to get the gate painted. And buy a microwave.

LATA. Please, Amma! Please don’t insist I agree to this! You are ruining my life.

PREMA GOWDA. You should have thought of our lives before sleeping with that terrorist!
DEVRAJ GOWDA. Lata, go to your room.

PREMA GOWDA. You have ruined our lives!

DEVRAJ GOWDA. Prema.. ..

PREMA GOWDA. She has to do it in his hostel! Couldn’t they go to a hill station or
somewhere?

LATA. You wouldn’t have allowed me.
PREMA GOWDA (tearfully). All those boys knew about you!
LATA. That’s not true.

PREMA GOWDA. They told their mothers and their grandmothers and the whole wide
world!

LATA. No they did not. Because it is not true!

PREMA GOWDA. Oh, so the whole Gowda community is lying about you?
LATA. People believe what they want to believe.

PREMA GOWDA. Why would they want to say all this then?

LATA. Because of you!

PREMA GOWDA. How dare you?



6 of 8

LATA. They don’t like you so they talk about me!
DEVRAJ GOWDA. Lata—please.
PREMA GOWDA. Lata, | am your mother.

LATA. | am forced to be displayed to some has-been because you don’t have the courage to
tell them all to go jump in a well.

PREMA GOWDA. I... don’t know what to say to this girl! (Pause.) Don’t just stand there.
Say something to her!

DEVRAJ GOWDA. All the better that his first wife divorced him. Even if they know about
you, it shouldn’t matter to them.

3. This question has two subparts, A+B. Both have to be answered:

A. The dramatic extract in Passage 2 depicts a couple discussing a possible marriage proposal
for their daughter. What are the aspects considered by the parents? Do you agree with their
criteria for selecting a match for Lata? Discuss giving examples from the passage. (10 marks)

B. Imagine you are Lata and pen down your thoughts and feelings in your diary immediately
after returning to your room. Write a diary entry keeping in mind Lata’s reactions to the
marriage proposal. (15 marks)

4. This question has two subparts, A+B. Both have to be answered:

A. In Passage 2, Devraj Gowda says, ‘They must be broad-minded, like us.” Are Devraj and
Prema ‘broad-minded’ ? Assess the Gowda family on the basis of its preoccupations with
caste, class and marriage giving suitable examples from the dramatic extract. (10 marks)

B. Write the letter that Devraj Gowda sent to Chandrakant Patel giving information about his
daughter Lata and about their family. Refer to the beginning of the dramatic extract in Passage
2 to gather hints from Chandrakant’s letter to Devraj. (15 marks)

Passage 3: [740 words]

‘She’s the coolest cat in the place,’ a starry-eyed first-year science undergraduate whispers to
her friend as Tehmina Dadyseth strides past them, her vibrant red miniskirt swinging, a plate
of samosas in her hand, clearly late for her first class of the day. ‘I wish I were her.’

“You wish you were a crack, you mean,’ sniffs the friend. ‘All these rich arts girls are crack,
but she’s the crackest. Look what she’s doing now!’

Because Tehmina, having reached Room 33, has dropped dramatically to her knees in the
open doorway, and is holding out the samosas like a tribute to the professor, pleading to be let
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in. The unseen professor relents and the briber rushes in gratefully, still on her knees,
dropping her register in her eagerness and scurrying back out a moment later to retrieve it.

‘Clumsy too! And a show off, maaroing that fake American accent!’

‘Arrey, she lived in America till she was ten, and it’s very slight — besides, her Hindi is so
good!” Her friend isn’t convinced.

‘Do you know she organized an antim sanskar with an actual funeral pyre and last rites for
three of her friends who are getting married this month? She has no respect for religion — must
be because she’s Parsi.’

‘That was a bonfire party.” The starry-eyed first-year defends her heroine stoutly. ‘Anyway, I
think it’s a shame that girls come here — to the best women’s college in India, for heaven’s
sake — to get quality education and then get married off without even completing their degree!
Tinka’s protesting against that in a symbolic sort of way — what’s wrong with that?’

‘It’s against our traditions.” Her friend shakes her head. ‘And I don’t think she’s pretty, she’s
so frowny and browny — there are at least ten girls in MH more fair-complexioned than her!’

These accusations are not entirely invalid. As Tinka Dadyseth officially enters our narrative,
seated within the gracious, red-bricked walls of Miranda House, University of Delhi, furiously
scribbling on a chart paper with a black crayon, it must be admitted that she is not
conventionally pretty. She is wheatish and unfashionably thin, with slender, tennis-player
limbs, unusual in a time when most girls aspire to voluptuous curves. Eschewing the floral
prints in vogue, Tinka dresses in skirts of red, orange or emerald-green, teamed with white
tops in the summer, and black polo necks in the winter. In an establishment as conventionally
fashionable as Miranda House, this is indeed brave. Her hair is black and wavy, her large eyes
combative, her nose straight, her mouth generous, her opinions decisive. Her face is long,
ending in a pointy chin, and when she smiles, two tiny dimples flash in her cheeks. ‘You look
like an imp,” Jimmy used to say, chucking her under the chin. ‘A young imp — an implet. An
implet with dimplets.’

But we mustn’t talk about Jimmy. Nobody in Tinka’s family does.

Now she gives a satisfied little grunt and leans back from the chart paper banner she has been
working on.

HANG US! screams the banner in psychedelic colours. Underneath, in smaller handwriting:
Quality photo prints from around the world!

It is the eighteenth Republic Day of independent India and Miranda House is celebrating with
a mela on the front lawn. There are several stalls selling tea and chaat and jewellery and
kolhapuri chappals, as well as the standard hoopla and lucky dip. Usually a fiercely guarded
all-girls bastion, Miranda House has opened its gates to the general public today, as the
proceeds of the mela will go to soldiers’ widows and orphans. Students from other colleges
have been allowed in, and the crowd is peppered with carefully groomed hopeful young men.
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Principal Vidya Surendran makes a short speech, the choir performs a rousing version of
‘Kadam kadam badhaye ja’, a second-year botany student renders a particularly lachrymose
rendition of ‘Aye mere vatan ke logo’ and the mela is declared open.

The photo prints stall does brisk business through the day, some of which might have to do
with how animatedly Tinka makes her sales pitch. The other girls in the stall are all extremely
charming, but none of them light up like Tinka does while talking about the merchandise.
“This is the Rann of Kutch,’ she tells a group of smitten boys, her eyes glowing with passion.
‘A moonscape — literally a moonscape — doesn’t the sand look like waves in the sea?’

Q. 5. This question has two subparts, A+B. Both have to be answered:

A. Why do some of the girls not like Tehmina? Is their dislike justified? Quote and use words
and phrases from the text to show what in the passage made you draw the conclusions you
have come to. (20 marks)

B. Based on the introduction to Tehmina that this passage provides, imagine the conversation
she has with any of the people whose photographs she wants to take. You can represent this
conversation through a dialogue or a story or an essay. (15 marks)

Q. 6. This question has two subparts, A+B. Both have to be answered:

A. What picture of college life emerges from this passage? Quote and use words and phrases
from the text to show what you drew your conclusions on. (10 marks)

B. Imagine you are the teacher to whom the plate of samosas is offered, and who allows
Tehmina to enter the class late. Write in the form of a dialogue or dramatic extract the
conversation which takes place at this time. Your answer should be about 350-500 words and
include at least two characters. (15 marks)
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paper and the scanning and uploading of the answer sheets)

INSTRUCTIONS:

1. This question paper contains six questions.
Each question carries equal weightage (25 marks).
Attempt any THREE questions.

Q.1 Read the passage given below and answer the questions that follow it:

Do you live in a house? You might be surprised to learn that there are
many, many kinds of houses. Most people in India are used to houses
made of bricks, stones, straw, or mud. But many people around the world
live in houses made of grass, soil, or cloth.

Some nomadic people build their houses of straw. Their houses are shaped
like domes or half spheres. The homes are small and cool. People can
move their houses when they want to move. Since they are nomads, they
move often from one place to another in search of food.

People of the Uros tribe of Peru build their houses of reeds (tall, grass like
plants). Not only that, they also live on islands that are made of reeds!
Their boats are also made of reeds.

In Southern Spain, some people live in underground houses. This kind of
house is called a cueba. During the winter, the houses stay warm. During
the summer, the houses stay cool.

In Yemen, some people live in tall houses made of bricks. These bricks are
made of clay, straw, and soil. The bricks last many years - maybe as long
as 500 years.

In the Philippines, some people still live in tree houses. The tree houses are
made of bamboo with grass roofs. The air is cool and the houses stay dry.
The fishermen of Malaysia build their houses on water. They use wood
from mangrove trees. This wood stays strong in water. In China, many
town houses are made of hard packed soil. The soil becomes as strong as
brick when it is packed hard. One large family group lives in a town house.

In the Gobi desert some people live in homes called gels. These homes are
made of cloth. Two poles in the centre of the house hold the cloth up. The
houses are easy to move and setup. People build their houses to fit the
needs of their lives.
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Q.2

The houses are different, but one thing is the same wherever you go. There
is no place like home.

(A) State whether the following statements are True (T) or False (F).

(1)  InlIndia, people live in stone and brick houses only.

(i) The tribal people of Peru make islands out of reed.

(iii)  The bricks used in making houses in Yemen can last for even
five centuries.

(iv)  The wood of mangrove trees becomes soft and pulpy in water.

(v) Itishotand humid in tree houses.

(B) On the basis of the given passage, answer the following questions
briefly (30 — 40 words each) in your own words as far as possible:

(1)  Why do nomadic people move from one place to another?
(i)  What is special about cueba homes?

(iii))  What are tree houses made of?

(iv)  Why are town houses in China made of hard-packed soil?
(v)  Why do people build homes?

Read the passage given below and answer the questions that follow it:

Do you want to look younger and more beautiful? Are you interested in
slowing down the ageing process? There is no magic cure for this. The
market has many lotions and creams that promise to make your skin turn
fair and lovely in 10 days. You buy and use them and realise that most of
them do not give any results. There is a better solution. Eat whole grains,
fruits, and vegetables which are low in calories and high in fibre and full
of nutrients. If you eat a diet rich in these items, you will soon become
slim and slow down the ageing process.

It is inevitable that you age as you grow. But you can slow the process of
ageing with the right diet — a diet rich in vitamin C which you can get in
guava, oranges, grapefruit, and red and green peppers. Vitamin C helps to
keep the skin elastic and supple. While oranges are a good source, green
peppers, and leafy greens such as spinach are also excellent sources of this
important vitamin. Eating food rich in this vitamin can slow down the rate
at which your skin tissues lose elasticity, thereby helping you maintain
smoother and more youthful skin for years to come.

(A) Complete the summary of the above passage by filling in appropriate
words from the text. The first one has been done for you.

There is no magic formula for slowing the process of ageing.
Itis bettertoeata __ (i)  which includes whole grains,
fruits, and vegetables as these foods have __ (ii) calories
and high nutrition. They will help you to lose weight as well
as __ (iii) down the ageing process. The natural

10 marks

5x3=15
marks

10 marks
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(iv)  process cannot be stopped. But we can slow it
down with a diet that is rich in vitamin C. This __ (v) is
found in oranges, green peppers, spinach etc.

(B) On the basis of the given passage, answer the following questions
briefly (30 — 40 words each) in your own words as far as possible:

(i)  What does the passage tell you about lotions and creams in
the market?

(i) Why should we eat a diet consisting of whole grains, fruits,
and vegetables?

(iii))  Which vitamin is useful for looking younger? How does it
help your skin?

(iv)  Name 3 sources of the vitamin.

(v)  After reading the passage, do you think there is a ‘magic cure
for slowing down the ageing process? Give reasons.

b

Q.3 (A) Complete each sentence by selecting the correct word / phrase from

the pair given in brackets after the blank:

(1) He was quite (high / tall) for his age.
(i)  She may look (plane / plain) but she is very
intelligent.

(ili)  Please don’t drive fast as there might be an
(accident / incident)

(iv)  Her hands are rough because she works with her
(bear / bare) hands.

(v) Can you (here / hear) the dog barking?

(vi)  Please keep (quiet / quite) while the movie is
going on.

(vii) My sister promised to (so / sew) the buttons on
my new dress.

(viii)  The strong wind (blue / blew) away the tent.

(ix)  Panda bears are becoming a (rear / rare) species.

(x) He was arrested for giving (fake / false)
information.

(B) Write a letter to the Principal of your college about the unhygienic
condition of the college canteen and request her/him to take
necessary action.

Q.4 (A) Complete each sentence by selecting the correct word / phrase from

the pair given in brackets after the blank:

(1) The government is trying hard to solve the problem of
(literacy / illiteracy) in the country.

(i) It is thought (proper / improper) to wear T-shirts
to office meetings.

(ili)  They don’t mind the (comfort / discomfort) of a
long journey.

15 marks

10 marks

15 marks

10 marks
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(B)

Q.5 (A

(B)

(iv)  His (kind / kindness) to animals is well known.
(v)  Don’t worry about the dog. He is (harmful /
harmless).
(vi)  The government has announced scholarships to
(encourage / discourage) poor students.

(vii)  Your injuries will (heal / heel) soon.

(viii) I read afairy (tail / tale) to the children.

(ix) The (whether / weather) looks bad today.

(x) I don’t like to sit (idle / idol) as it makes me
unhappy.

Write a paragraph, in about 150 words, on the friendly cricket match
between two college teams in which your college team won.

Complete each sentence by selecting the correct word / phrase from
the pair given in brackets after the blank:

(i) She (had lived / has lived) in Delhi all her life.

@ 1 (have seen / saw) this film before.

(iii)  These days the climate (is changing / changed)
rapidly.

(iv)  The children (are asking / had been asking) for a
video game for long. I got it for them yesterday.

(v) I (was cooking / am cooking) when the phone
rang.

(vi)  The injury is not serious. You (need / needn’t)
worry.

(vii)  If you want, you (should / can) go.

(viii) Rakesh is very busy. But he just
(might / might not) come for the film.

(ix)  Sona cut the apple (by / with) a knife.
(x) How far can we walk (by / on) foot?
(xi)  Heis fond (of / for) coffee.

(xii)  The sponsor money was equally distributed
(between / on) the two players.

(xiii) Bachendri Pal is (the / a) first woman to climb
Mount Everest.

(xiv) The Ganga is (a/an) holy river.

(xv) (a/an) umbrella is very useful in the rainy
season.

State whether the given response is appropriate or inappropriate in
the given situations. If it is inappropriate, write a suitable response.

(1) Mother: “Harsh, could you please buy some postage stamps
from the post office?”
Harsh: “I don’t have the time. Buy it yourself.”

(i) You: “Uncle, it is raining. Could I borrow your umbrella?”
Uncle: “Sure. Go ahead, take it.”

(i)  Aunt: “Let’s go shopping at the mall.”

15 marks

15 marks

10 marks
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Q.6 (A)

(B)

(iv)

v)

You: “No, I don’t find it an enjoyable place. You go.”

You: “Excuse me Sir, I want to return these books to the
library.

Librarian: “Aha! You are returning the books late? Now pay
the fine.”

You: “Ma’am, here’s the report that you wanted. It was with
the Sales Department.”

Boss: “Thank you. Please leave it on my table. I’ll look at it
later.”

Complete each sentence by selecting the correct word / phrase from
the pair given in brackets after the blank:

(i)

(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)
(xiii)
(xiv)
(xv)

I (study / am studying) history as an elective
subject.

I (am coming / have come) here before.

I (had worked / has worked) in Italy for five
years before moving to France.

It (had been raining / has been raining) since
morning.

If you had asked me, | (would have helped /
should help) you.

Rahul is one of my closest friends. | (had known
/ have known) him since we were at school together.

She (has been playing / playing) the sitar since
she was eight years old.

I could not enter the house. | (lose / had lost) my
keys.

She wasn’t feeling well. She (must have eaten /

must be eating) something bad.
(Might / May) I close the window?

She ran as quickly as she (can / could).
Heis (an / a) honest man.
Keep these books (over / on) the table.

There is a heavy parcel (of / for) books for you.
(A / An) university is a place for higher studies.

Write an appropriate response to the following comments:

(i)
(i1)
(iii)
(iv)
(v)

You have not submitted your assignment. Why is that?
How long have you lived here?

Could you please tell me where the nearest mall is?
Shall we go to see the new film?

What a fantastic movie it was! How did you find it?

15 marks

10 marks
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Answer any three questions. All questions carry equal marks.

1. IsVarna system a good entry point to understand Caste System? Explain with examples.
2. Discuss the significance of the household in the upholding of gender identities.

3. It will not be incorrect to propose that untouchability found a crucial place in caste society?
Do you agree?

4. What are the central characteristics of a tribe? Discuss its most important features with

examples.
5. Caste and race are identical concepts. Do you agree?

6. Constitution has several provisions to ensure gender equality. Comment.
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Income Tax Law and practice (OC)
Paper code: 52414304
Time: 3 hours
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Q1. “The income tax act gives absolute exemptions in respect of certain income, while some income is
included in the total income for determining the rate only”.In the light of above statement, state ten
incomes (along with their sections) which are exempt from tax.

Q2.Anamika, aged 59 years, is employed with XYZ Ltd. Her remuneration includes:

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

Basic salary: Rs.80, 000 p.m.

Dearness allowance: 10% of basic salary (forming part of retirement benefits)
House rent allowance: Rs.24,000 p.m. (rent paid Rs.20,000 p.m. in Delhi)

City compensatory allowance: Rs.375 p.m.

Family allowance: Rs.225 p.m.

Tiffin allowance: Rs.100 p.m.

Servant allowance: Rs.1050 p.m.

Over time allowance: Rs.500p.m.

Motor car facility for official and private use. The car, 1200 cc, (cost Rs.7, 00,000), is
owned by employer, Running and maintenance cost of Rs.1, 10,000 p.a. is also incurred
by employer. Anamika pays Rs.600 p.m. to the employer for use of this facility.

(x) Employer’s contribution to National pension scheme (NPS): 10% of salary. Anamika also
contributes an equal amount.
(xi) The only other income of Anamika is interest on fixed deposit (net of TDS): Rs.73,800.

She paid/deposited: (a) tuition fee of Rs.30, 000 for 2 children (b) Rs.40, 000 in Sukanya Samridh scheme
(1) Rs. 10,000 in Kishanvikashpatra (iv)paid med claim premium Rs.10, 000 each for herself, husband &
her brother in law.

Compute Anamika’s tax liability for the assessment year 2020-21.

Q3. Ms. For the assessment year 2020-21, X (age 65 years) submit the following information:

Particulars HOUSE :1 (Rs) HOUSE:2 (Rs.)
Fair rent 7,00,000 6,40,000
Municipal valuation 7,20,000 7,00,000
Standard rent 6,00,000 10,00,000
Annual rent 12,00,000 8,40,000
Unrealized rent of the previous 20,000 1,60,000
year 2019-20

Unrealized rent of the previous - 6,00,000
year 2018-19




Vacancy period (months) 2 4

Municipal tax paid 80,000 10%

Loss on account of vacancy 2,00,000 2,80,000
Repairs 15,000 14,000
Fire insurance 25,000 25,000
Land revenue 55,000 85,000
Ground rent 56,000 28,000

Interest on capital borrowed by | 2,80,000 -
mortgaging house-1 but funds
used for construction of house -
2

Nature of occupation Let out for business Let out for residence

Determine the taxable income and tax liability of X for the assessment year 2020-21 assuming that X
paid Rs.1, 40,000 as life insurance premium on the life of his wife for Rs. 20, 00,000 policy is taken on 11-
8-2011 and invested Rs.20,000 in Indira Vikas patra& Rs.50, 000 in PPF account in his own name.

Q4. “There are certain expenses those can be claimed as deduction, under the head profits from
business and profession, even if paid after end of previous year”. Explain. Also discuss the treatment of
expenditure on scientific research under section 35?

Q5. Explain the term capital gains under the income tax act. Distinguish between short term and long
term capital gains. Also explain the provision of section 54 & 54 B of the income tax act 19617

Q6. Explain the provisions of income tax act regarding, the set off and carry forward and set off of losses
under different heads of income.
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Answer any three questions. All questions carry equal marks.

1. Isit correct to suggest that Jati and Varna are interchangeable categories? Critically
evaluate.

2. Household plays important role in defining the character of gender identities? Comment.
3. Explain in what ways bondage and servitude are different from slavery.

4. Do you agree that untouchability constituted an important feature of caste society?

5. What are the main characteristics of tribal social structure?

6. How does the Indian Constitution address the issue of social inequalities? Examine either
with reference to Untouchablity or gender.
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Instructions for Candidate

Do any Four question, All question carry equal marks :
Answer may be written either in English or Hindi : But the same medium should be used
throughout the paper.

Q1. How is Ethics? How conventional ethics is different from reflective
morality?

Q2. What is the role of Dharma? Explain it in the context of theory of four
purusartha?

Q3. How is suicide different from voluntary and involuntary euthanasia?

Q4. Explain Kant's deontological theory of categorical imperative.

Q5. Describe Aristotle's virtue ethics?

Q6. Write short notes on any two of Following :

(1) Concept of Niskam Karma yoga of the Bhagwat gita.
(2) Cruelity to animals.

(3) Mill's theory of utilitarianism.
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Unique Paper Code : 52101325 OC

Name of the Paper : Introduction to Logic

Name of the Course : B.Com. (P.) (In lieu of MIL)

Semester : i
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Instructions for the candidates

I.  Attempt any four questions
Il.  All questions carry equal marks

1. Write short notes on the following: 9.37x2=18.75

(a) Deduction and induction
(b) Truth and Validity

2. Answer the following: 9.37x2=18.75
() What do you understand by a categorical proposition? Explain the classification of categorical
propositions as per quality and quantity.
(b) Write a short note on the figure and mood of a syllogism.
3. (a) Give converse and obverse of the following: 6.25x2=12.5

(i) Some scientist are genius.
(ii) No dancers are painters.

(b) If “All singers are artists” is true, then what can be inferred about the truth or falsity of its opposite

propositions? 6.25
4. Test the validity/ invalidity of the following by method of six rules: 6.25x3=18.75
(@ IAI-2
(b) EAO-4
(c) OAO-2
5. (a) Symbolize the following: 2x6=12

(i) Preetiis honest but not creative. (H, A)
(ii) Neither Lewis nor Clark will be selected. (L, C)
(iii) I do not go for shopping unless it is urgent. (S, U)

1



(iv) If it does not rain then we shall go for shopping. (R, S)
(v) Not both Abhishek and Rakesh won the match. (A,R)

(vi) Either Iran or Libya raises the price of oil. (I, L)

(b) Define ‘Disjunction Function’ with example. 6.75
6. (a) Use truth table method to test the validity or invalidity of the following arguments: 6x2=12
() PvQ)>(P-Q)
P+Q/~PvQ
(i) AoB
~B /.~ ~A
(b) Reduce the following sentences into their standard categorical form: 2.25x3=6.75

(i) Snakes are not all poisonous.
(ii) Not every man is perfect.
(iii) Most of the students are bright.
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6. (a) Use truth table method to test the validity or invalidity of the following arguments: 6x2=12
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throughout the paper.

SH YAYT &l 3 33N AT fgear fhdl va 9w & SIfST; Jifched @y 3TRT T
HATETH T &Y glaT difgu]|

Students must attempt three questions. el e et & IR AT AfFAaT g
All questions carry equal marks. gy uAT & 3 AT gl

=

N

Describe the role of lltutmish as the real founder of the Delhi Sultanate.

ol Heaad & HEUTF & F A Foqdiay H ffAer H o= i)

Describe the aims, extent and impact of Allaudin Khalji's market regulations.

er3cald Qs & IR 3fRAfATHE & 3¢, AEdar 3R werrg & auid
EQIEY

Discuss the contribution of Kabir and Nanak to the Bhakti movement.

wiFa 3micield H R 3R a6 & AeTeT HF T=T Hifa]

Critically evaluate Akbar’s relations with the Rajputs.

TSTqdl & | el & FFaeUl H1 AArdedlcHs Hedidhsd Hifav]

Trace the growth and development of painting under the Mughals.

Il & et Rashor B 3cufd @ fAera 1 Y@ifhd AfSv)

Discuss the growing importance of trade during the 16™ and 17" centuries.

16dT 3T 1747 AAERIT & AT AR & d¢d HAged T TaT Fifau]
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Students must attempt three questions. el e et & IR AT AfFAaT g
All questions carry equal marks. gy uAT & 3 AT gl

Describe the establishment of different cities in Delhi during the 13" and 14™ centuries.

13dT g 1447 erarfeeal & e feoel & Affiea gt fir Tamgar & guia
HifaT]

. Trace the growth of Delhi as a military camp (lashkargah) in 14" century.

143t adredy # T Afeleh BIGal (A2HIME) & & H fGeal & fawra &l @ifehd
ST

Evaluate the manner in which the Qutb complex has been understood and interpreted by
the scholars.

facaret & Hqe aRET AT fha TiSehoT @ W AR IHRT T HI, AT
Hodiehel HIfaIT|

Describe the cityscape of Shahjahanabad with special reference to Qila-i-Mubarak.

forell-T-HaNe & A Hest # emgeielaere & FIR-URT (IIeTan) Hr autel
afaT]




5. Discuss the significance of different bazaars in Mughal Delhi.

HITThTeN feeel # fAffiee ORI & Heed & fAdwer ST

6. Examine the growth and development of the ‘New’ literary culture in Delhi in the context of
Urdu language.

3¢ 9T & qRUeT H feeel A oir @ifgfcuss @epfd &1 3cdfa 3R s
qdetor HIfST]
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Attempt Any Four questions.
All questions carry equal marks.

fopegl I weaT & 3aX SIS
T geAT & 3k AT 2

1. What is Globalization? Comment on its nature and character.

dRAIRIOT FAT §? deAROT Fr gepfd va IRT W feoyoh Hifsiv)

2. Critically analyze the culural dimensions of Globalization

dRATRIOT & AEpfceh ITAT AT JHTeldellcAs faeawor HfST|



. Do domestic and global responses to globalization differ from each other? Discuss with
examples.

FIT dedepIoT WX 3TdRe Ud dRgs gfafhamst & a1 37ax &7 3emeder afed
fa==r hife|

. Critically examine the liberal approach for understanding Globalization.

32NEHIUT W 3ERATET Toeahlel ol ToldellcHe TI8TUT hifaT|

. Comment on the relevance of Nation State in the time of Globalization.

ARAIAIOT o I H TS I G Aehdl W feoqoy Hifsv)

. What is the link between globalization and migration?
AAHIOT TUT TaHT H FT T §7?
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THY ;3 He quiieh : 75

Note: Answers may be written either in English or Hindi but the same medium should be followed
throughout the paper.

SH Y9 T 3aX el AT Ber forddy v s # SifSw oiferd @l 3okt &1 Aegsd
T g1 gler Tifgu|

Attempt Any Four questions.
All questions carry equal marks.

fhegl I wRal & 3T SIS
Tl ueaT & 3k gAAT T

1. What is Globalization? Write a critical essay.

AHIUT FAT §? T TlIgadicAs faeer faf@u)


http://b.com/

. Discuss the liberal approach to understand Globalization?

3edHIOT & 3ERAET 3UTITH HI [Sea=T Hi?

. Critically examine the economic dimension of globalization.

FedEIOT & 3T TATH &1 faevur HIfaw]

. Globalization has led to the homogenization of cultures? Examine

ARATIOT o HERIT & FHTNHRIOT T sifed fhdT & 2 T80T HfST

. The Idea of Nation-State is on decline in the era of globalization. Analyze

ST I fqaR ARAHOT & JaT # 9T H 3R g1 fagawor Hifae|

. Is Globalization Inevitable?

FAT IR0 ARG &2
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This question paper contains 1 printed pages.

Roll No.
Unique Paper Code : 52131317
Name of the Paper : Sanskrit as MIL A-2 Grammar and Translation
Name of the Course : B.Com.(P) MIL LOCF
Semester : i
Duration : 3 Hours
Maximum Marks : 75
feroqft:
1. =9 YI-997 &1 3¢ G&hd AT fgwal a7 sisit foreT wa |ruT # fore, wweg aslt I &7
AT TF & AT AT |
2. TATATTH T 6 T & | 348 & Thegl 4 T o ST AT | T TS TAT & |
Note:
1. Answers should be written in Sanskrit or in Hindi or in English but the same medium

should be used throughout the paper.
There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

. TA, HANT, TATTE, T - S0 & Tohegl QI ST 0 TOATIOT R

Define any three technical terms of the following : 3q, T, TATEI, T

O], ST, TF, A, A% - IAH G gl AT TATRI 6 997 JATS0

Write down the alphabets of any four pratyaharas of the following : 3797, 5T¢[, =4,
<], A%

o [N [N e
SALTHIA dAT dc{el dHId Eﬁ\ﬂdlaiulﬂlad TE =(1SU|

Explain s=rftama and dcqe" compounds and give examples for each.
raw | Aias gl &1 Fieeat #if IIevEied a9t

Explain giving examples any two sandhis as mentioned in the syllabus.
FH, LT 3T ATHLUT HTLF il IATGLIHed AT it

Define %W, YT and Te#<T cases and give examples for each.

ST Hg<dH AT JEATIT HEwaH - 39 (60T I §6a § [Hae forfem)
Write an essay in Sanskrit either 3T H2<a# or FEATIT HEwAH




This question paper contains 1 printed pages.

Roll No.
Unique Paper Code : 52131317_0OC
Name of the Paper : Sanskrit as MIL A-2 Grammar and Translation
Name of the Course : B.Com.(P) MIL, CBCS
Semester : i
Duration : 3 Hours
Maximum Marks : 75
feroqft:
1. =9 YI-997 &1 3¢ G&hd AT fgwal a7 sisit foreT wa |ruT # fore, wweg aslt I &7
AT TF & AT AT |
2. TATATTH T 6 T & | 348 & Thegl 4 T o ST AT | T TS TAT & |
Note:
1. Answers should be written in Sanskrit or in Hindi or in English but the same medium

should be used throughout the paper.
There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

. TA, HANT, TATTE, T - S0 & Tohegl QI ST 0 TOATIOT R

Define any three technical terms of the following : 3q, T, TATEI, T

O], ST, TF, A, A% - IAH G gl AT TATRI 6 997 JATS0

Write down the alphabets of any four pratyaharas of the following : 3797, 5T¢[, =4,
<], A%

o [N [N e
SALTHIA dAT dc{el dHId Eﬁ\ﬂdlaiulﬂlad TE =(1SU|

Explain s=rftama and dcqe" compounds and give examples for each.
raw | Aias gl &1 Fieeat #if IIevEied a9t

Explain giving examples any two sandhis as mentioned in the syllabus.
FH, LT 3T ATHLUT HTLF il IATGLIHed AT it

Define %W, YT and T2#<T cases and give examples for each.

ST Hg<dH AT JEATIT HEwaH - 39 (60T I §6a § [Hae forfem)
Write an essay in Sanskrit either 3T H2<a# or FEATIT HEwAH




This question paper contains 2 printed page.

Roll No.

Unique Paper Code : 52131316

Name of the Paper : Sanskrit as MIL B-2 Grammar and Composition
Name of the Course : B.COM.(P) MIL LOCF

Semester il

Duration : 3 Hours

Maximum Marks : 75

feoquft:

1. TH TI-957 FT IOC G6ha A7 Igear a7 S{sit foreft e st # dfory, oeeg a9t s &1

AT T I T AT |
2. TATATTHFTA 6 TT & | STH & Thral 4 =TT % L AT | Heh SF A 3 |

Note:

1. Answers should be written in Sanskrit or in Hindi or in English but the same medium
should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

1. wTSTshA H [Afese gl ar afevrl & 3eevrafed aHsmsU|

Explain giving examples any two sandhis as mentioned in the syllabus.

2. 3CTATHIT TAUT ATEY TATH I SaERUTHTSd TISC HIfAT|
Explain 3regd1#1a and dcqey compound and give examples for each.

3. @cdl, T, Fd R Y - 31 el TeAT W eeordfed dfared feoqoft fafgu|

Q9
Write short notes on these shd_ affixes &cdT, JHeT , Fd and *I9_ and give examples
for each.

4. AT, AT, Iot, BIETUNH, TEAHI, TNl - S8 A fohoel e & T gercT fasrfera
SRIERECRIEN

Mention case-ending and number used in any five of the following : I, dfAeT:,

del, BIATONH, JEIHRIT, Ioie



5. 3reaTienT, ATH, 3UTH, IISH, THH, J&T: - ST Asal T TN I §quu arerg

FAST|
Make five sentences using the following words : 373110, fAFH, 391, qIoH,

EECACIE
6. HETHRTH 3rUal TAFUH W HEHd H e Qv

Write an essay on either HGTHARAH or ITHTIOTH



This question paper contains 2 printed page.

Roll No.
Unique Paper Code : 52131316_OC
Name of the Paper : Sanskrit as MIL B-2 Grammar and Composition
Name of the Course : B.Com.(P) MIL CBCS
Semester X 11
Duration : 3 Hours
Maximum Marks : 75
feroqoft:
1. =9 TF-997 &1 307 §&5q AT et a7 sRIsft foreT wa wruT # o, wweg a+t 39 &
HTEAH TF gl g1 ATRT |
2. TMYATAH FA 6 T8 | 379 & Thegl 4 T=I7 o I AT | Haoh ATH 9 3 |
Note:
1. Answers should be written in Sanskrit or in Hindi or in English but the same medium
should be used throughout the paper.
2. There are total 6 questions in this question paper. Attempt any 4 questions. Each

question contains equal marks.

1. gefar 3R 3rnfe afeyr &1 3ereevrafed arssU|
Explain gef&r and 3r2Tfe; sandhi and give examples for each.

2. degey AR ag?;ﬂ‘% AT I 3G e TISC IS
Explain dcq®¥ and Elg‘qﬁ‘f? compound and give examples for each.

3. 2d, ATl 31T AT Fedl - FoT el JeIhT T 3GV Higee feequly
faf@u|

Write short notes on these & affixes d, QTeTT AT and FcdT and give
examples for each.



4. STelehT:, Fogehel, I, 3Uas, Pelfe, ﬁmﬂm{-sﬂﬁﬁ%ﬁﬁﬂﬁﬂﬁ
IEEIESRRICEGERIEN

Mention case-ending and number used in any five of the following : sTel<T:, dno-génd,

5. 9afd, T9Y:, eaied, Nafd, @efd, gafed - sﬁ%lﬁa?rmmquﬁ
CICS R EIEIY

Make five sentences using the following words : 9&fd, 99, IS ed, AT,
ey, grafed

6. WIUHR: YAl Ffelerd: W TEhd A fAger faf@e|
Write an essay on either IR or SHITAIGI:



This question paper contains 1 printed page.

Roll No.
Unique Paper Code : 52131315
Name of the Paper : Sanskrit as MIL C- 2 - Sanskrit Grammar
Name of the Course : B. Com. (P), MIL, LOCF
Semester : i
Duration : 3 Hours
Maximum Marks : 75
feroquft:
1. TH TI-957 FT IOC G6ha A7 Igear a7 S{sit foreft e st # dfory, oeeg a9t s &1
HTEAH T BT EAT AT |
2. TATATTHFTA 6 TT & | STH & Thral 4 =TT % L AT | Heh SF A 3 |
Note:
1. Answers should be written in Sanskrit or in Hindi or in English but the same medium

—

should be used throughout the paper.
There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

. A, oA 8w T (Efiforg) & o+t fErafee & =7 forfem

Decline atman, yusmad and tri (Feminine) in all the Vibhaktis (case-endings).

2. g (fafere =), 99 (T 7F), F (7 @) F iy a=rl & =7 oo )
Conjugate bhi (Vidhilin lakara), nrt (Lrt lakara) and kr (Lot lakara).

3. T A@fFg F WAl & QL HEqo HIoT |

Describe the types of Hal Sandhi with examples.

4. FHTE %I TTLTIOM HI TTL FLA gU IHh TR T A0 FUA (T |
Explain the concept of Samasa and describe its types with examples.

5. #TTH A ITTE FARRAT T ARTELT A0 9T |
Explain the Karaka and Upapada Vibhaktis with examples.

6. T TAT FHl TATUT Fd T TG F TAIT Hl FIETZL0T T HI(T |

Define Kyt suffix and explain important Krt suffixes with the help of suitable examples.

1



This question paper contains 1 printed page.

Roll No.

Unique Paper Code : 52131315_0OC

Name of the Paper : Sanskrit as MIL C- 2 - Sanskrit Grammar
Name of the Course : B. Com. (P), MIL, CBCS

Semester : i

Duration : 3 Hours

Maximum Marks : 75

feoquft:

1. TH TI-957 FT IOC G6ha A7 Igear a7 S{sit foreft e st # dfory, oeeg a9t s &1

AT T I T AT |
2. TATATTHFTA 6 TT & | STH & Thral 4 =TT % L AT | Heh SF A 3 |

Note:

[EEN

1. Answers should be written in Sanskrit or in Hindi or in English but the same medium
should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

sree S B (Fiferg) & 7+t st & w7 forfee s o arq & ffafos a@e 5 =9
forfam

Decline atman and tri (feminine) in all the Vibhaktis (case-endings) and conjugate bha in
Vidhilin lakara.

A Tl % WAl T drargu H=a fife |

Describe the types of Hal Sandhi with examples.

FHTH %l TALTIOT HI TTL FLd gU IHeh TR T A0 FUA (T |
Explain the concept of Samasa and describe its types with examples.

FICE 3T IT9E ATRRIT T HIQTgL0T I HITIT |

Describe the Karaka and Upapada Vibhaktis with examples.

F TAT T TRATUT Fd T T F TATT Tl TR0 T HfS0 |

Define Krt suffix and explain important Krt suffixes with the help of suitable examples.
TATAL-HLETH’ T HEha ATIT H T o (Haeer forfew |

Write a short essay in Sanskrit on ‘paryavarapa-samraksanam’.




Set-Il

HIE: SR (ETH)
gfeleh U HIs: 52051317-0C
f¥er: fger &@r (Hindi-C)
aaEe: |l

quiteh: 75 TAY: 36

3TaTH A

—

. 3ok @ fo@el & qd UREl Y S AN § A o |

2. GEYUE H ¥ gl IR 9T & 3cK ¢ |
3. UA& A 18.75 3% & glamm |

2 L o

fecr e = fawrarcas aRma v |

fREr srglel &7 fasrd IMET W geRTer ST |

W T rad’ HeTel I HI Fdeal W IR HIfav |

ST A & YR W STAhsoT Hg dr AGer-Aell i fIAYAT Jqrse |
AT Tenten! H TAfGd R d1eh fa8ITeTer <l FrAET &1 fadwst HIfaT |

I TATeT el Tl FEAIUT Rl AR 39T 2Tl H faf@v |



SET1

Unique Paper Code: 52417503

Name of the Paper: BC-5.1 (C) Auditing and Corporate Governance
Name of the Course: B. Com (Prog)

Semester: \Y/

Duration: 3 hours Maximum Marks: 75

Instructions for Candidates

Note: Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

Attempt any four questions.

All questions carry equal marks.

Q1. There has been a difference of opinion over the question of ownership of working papers
custody. What makes this document so important and controversial? Give the legal, professional
and your own perspective regarding this. Also explain the auditing procedure involved at this
stage of handling Audit Notebook and related documents.

Q2. In countries in which there is concentrated ownership of equity and there are large dominant
shareholders, they control the managers and expropriate minority shareholders in order to gain
private control benefits. The role of regulatory agencies and government to keep the BODs and
management in check becomes very important. Explain in detail this peculiar Agency problem of
Corporate governance and related critical evaluation in the context of the corporate sector of any
one country.

Q3. To ensure transparency and continuous trust and support from all the stakeholders, it is
imperative for every organisation to lay down a clear and comprehensive whistle blowing policy.
Narrate any one big corporate story of Enron involved with whistle blower’s daring act that led
to the crumbling of the corporate entity. Has the legislature in this regard made any progress in
India in last 10 years?

Q4. Why is it widely believed that corporate failures are largely attributable to shortcomings
in corporate governance practices? State & discuss these shortcomings pointwise in the context
of only the biggest scams faced by the corporate sector in India and abroad.



Q5. Knowledge about Approaches to ethics give the manager a decision-making perspective and
helps them in making morally informed decisions. If true write in detail about the various
approaches that managers use to take business decisions involving ethical dilemmas

Q6. Commitment by corporations and businesses towards achieving sustainability in the social,
economic and environmental conditions is in furtherance to the pursuit of profitability & many
more benefits. Is it true? Discuss in detail. What logics has the corporations to argue against
CSR?? Explain.



Set- A
Unique Paper Code : 52415502
Name of the Paper : Economics of Regulation of Domestic and Foreign
Exchange Markets
Name of the Course : B.Com, CBCS
Semester: V
Duration: 3 hours Maximum Marks: 75

Instructions for Candidates

A. Attempt any four questions. All questions carry equal marks.

B. Answers may be written either in English or Hindi; but the same medium
should be used throughout the paper.

1. “Externalities are harmful or beneficial side effects that are borne by people
who are not directly involved in the market exchanges”. Comment. In this context
also discuss external costs and external benefits.

2. “Asituation is defined as Pareto Optimal or Efficient if it is impossible to make
anyone better off without making someone worse off”. Comment. In this context
discuss productive efficiency and locative efficiency.

3. Two exporters namely, Red Sky Pvt. Ltd. and Black Night Pvt. Ltd. have
achieved the status of Status Holders (One Star Export House) in the current
financial year. Both the exporters have been regularly exporting goods (other than
Gems and Jewellery) every year. What would have been the minimum export
performance of the two exporters to achieve such status? What kind of privileges
Is a Status Holder eligible for? Discuss.

4. The New Industrial Policy of 1991 comes at the center of economic reforms
launched during the early 1990s. All the later reform measures were derived out of
the new industrial policy. The Policy has brought comprehensive changes in
economic regulation in the country. As the name suggests, these reform measures
were made in different areas related to the industrial sector. As part of the policy,



the role of public sector has been redefined. Similarly, foreign investment has been
given welcome under the policy and the scope of private sector participation has
been enlarged to almost all industrial sectors. In the light of the above statement,
discuss the main features of Current Industrial Policy,1991.

5. Under flexible rate of exchange, the rate of exchange fluctuates due to the
changes in the demand and supply of foreign exchange. Show the same with the
help of diagrams and bring out the factors determining it.

6. "Capital Account Transactions can be and /or cannot be regulated by Reserve

Bank of India under Foreign Exchange Management Act,1999". Do you agree?
Explain.

Note: Diagrams are not compulsory for visually impaired students.



Set: A
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Unique Paper Code : 52417504

Name of the Paper : Financial Reporting and Analysis

Name of the Course : B.Com. CBCS

Semester : \Y

Duration : 3 hours

Maximum Marks : 75 Marks

Instructions for Candidates

N e

Attempt any four questions.

All questions carry equal marks

Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.

“Objective of financial reporting is to provide information to stakeholders in a business to
permit correct decision making’. Explain.

From the following particulars extracted from the books of Arvind Ltd. compute the
Current ratio, Stock-Turnover Ratio, Creditors' Turnover Ratio, and Average Debt
Collection period and comment upon the same.

31-3-2019 | 31-3-2020
Rs. Rs.
Bills Receivable 30,000 60,000
Bills Payable 60,000 30,000
Sundry Debtors 1,20,000 1,50,000
Sundry Creditors 75,000 1,05,000
Stock-in-trade 96,000 1,44,000

Additional information: (a) On 31-12-2020, there were assets: Building Rs. 2,00,000,
Cash Rs.1,20,000 and Cash at Bank Rs. 96,000. (b) Cash purchases Rs.1,38,000. (c) Cash
sales Rs.1,50,000. Rate of gross profit 25% on sales and actual gross profit was
Rs.1,50,000.

“Annual report is instrumental in communicating all important information to the
stakeholders”. In the light of this statement explain the important disclosures made in the
annual report.

AS — 2 on inventory valuation gives the meaning, significance and criteria for
measurement of inventory. Explain.

Comparative statements and Common size statements are the two basic techniques of
financial statements analysis. Explain with example.



6. “Standard setting is a lengthy process” Elaborate. Are these accounting standards merely
professional guidelines or mandated by law? Give reasons in support of your answer.
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Set : A

Unique paper Code : 52417505

Name of Paper : Fundamentals of Financial Management
Semester 'V

Name of Course : B. Com (CBCS)

Duration: 3 Hours Maximum Marks: 75

Instructions for Candidates

1. Itis an open book examination.
2. Attempt any four Questions. All questions carry equal marks.

3. Though the duration of examination is three hours, yet one additional hour will be
given for downloading the question paper, scanning the answer sheet, and
uploading the answer sheet to the portal.

4. Answers may be written either in English or Hindi, but the same medium should
be used throughout the paper.

5. Use of simple calculator is allowed.

1. Explain how scope of finance function has changed over time and what role financial
manager plays in a modern firm.

2. Why Payback period is considered a method of liquidity rather than profitability?
Machine A costs Rs 2,00,000 payable immediately. Machine B costs Rs 2,40,000 half
payable immediately and half payable in one years’ time. The cash inflows expected are as
follow:

Year end Machine A Machine B
1 80,000 1,60,000

2 1,20,000 60,000

3 80,000 1,20,000

4 60,000 1,60,000

5 60,000 -

Rank the machine according to (i) NPV at 10%, (ii) Payback period and (iii) Accounting rate
of return, assuming depreciation is charged on straight line method basis.

3. Describe the importance of measuring operating leverage and financial leverage.
Consider the given information of ABC Limited

Rs



Sales (variable cost 30% of sales) 2,00,000

EBIT 40,000
EBT 35,000
Tax rate 40%
Find out
i) By what percentage will the Earning per share increases if EBIT increases by
6%7?
i) By what percentage will the EBIT increases if sales increases by 10%?
iif) By what percentage will the Earning per share increases if Sales increases by
8%7?

Also verify the results

4. What is ‘informational content’ of dividend payment? explain how it affects the share
value.
As per MM approach the payment of dividend does not affect the value of the firm.
Use the data below to prove this statement.

Number of outstanding shares 25000
Earnings per share 10

P/E ratio 10
Expected dividend per share 5

New Investments 440000

5. ABC Itd has the following book value capital structure

Rs in lakhs
Equity capital (in shares of Rs 10 each fully paid up at par) 20
Retained earnings 10
12% preference capital (in shares Rs 100 each fully paid up at par) 5
10% debentures (of Rs 100 each) 10
11% term loans 5)

The next expected dividend on shares is Rs 4 per share and the dividend per share is
expected to grow at the rate of 8%. The market price per share is Rs 40. Preference stock
redeemable after 10 years is currently selling at Rs 75 per share. Debentures redeemable
after 6 years are selling at Rs 80 per debenture. Income tax rate for the company is 40%.
Compute the weighted average cost of capital using book value weights and market value
weights.

6. XYZ Limited provides the following particulars relating to its working

i) Cost/ profit per unit (Rs):
Raw material 168
Direct labour cost 72
Overheads (including depreciation @ Rs 10 per unit) 82

Selling price 400



i) Average amount of backup stock:

Raw material
Work in progress (50% complete)
Finished goods

iii) Credit allowed by suppliers
iv) Credit allowed to customers

V) Average time lag in the payment of:

wages
overhead expenses

vi) Required cash in hand and at Bank

vii)  25% of the output is sold for cash

one month
one and half month
one month

one month
two months

half month
one and half month
Rs 3,00,000

For an expected sale of 50,000 units per annum, work out the working capital
requirements assuming that production is carried on evenly throughout the year and

wages and overheads accrue similarly.



This question paper contains three pages.

Sr. No. Of Question Paper

Unique Paper Code : 52417506

Name of the Paper : Goods and Service Tax and Customs Law
Name of the Course : B.Com. CBCS

Semester X Semester V

Duration : 3 hours

Maximum Marks : 75 Marks

Note:

Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.

Attempt any four questions out of six questions. All questions carry equal marks

Question 1

Define the term “Aggregate Turnover”. Discuss if GST is applicable in respect of the
following transactions:

a)
b)
c)

d)

9)

h)

X deposits Rs.50,000 in cash in his savings account with Punjab National Bank,
Delhi.

A Ltd., a manufacturing company takes legal advice from B, an advocate in USA and
US $ 500 are paid for this purpose.

P transfers a plot of land situated in Chennai to Q for a consideration of Rs. 1 crore on
July 25, 2019. The consideration is payable in installments.

R is in the business of selling computers. He closes down his business on March31,
2020. Value of unsold stock of computers on that date is Rs.20 lacs.

Z, of Karnataka, registered under GST, is a technical consultant of many companies.
He has been providing technical services to B Ltd., Bangalore since 2010 with
consideration settled for each assignment. On January 1,2020,B Ltd. pays Rs.20 lacs
to Z on his promise of not providing similar technical services to any other business
entity in India or abroad for ten years. Z is of the view that Rs.10 lacs is not
chargeable to GST. Do you agree? If not, compute the GST liability of Z ( it cannot
be recovered from B Ltd.)Technical services provided by Z are otherwise, chargeable
to GST @18%.

Xis a well known actor. Cineblitz gives him Life Time Achievement Award on
February 1,2020. The award consists of memento and a cheque of Rs.1 crore.
Compute the GST liability of X.

X Ltd. is an Indian company having branches in Mumbai and Delhi. Mumbai branch
provides consultancy service to Delhi branch against an invoice of Rs. 30,000.

P provides computer maintenance service since 2005 in Maharashtra. During the
month ending March 31, 2020, he provides his services in Pune to Q Itd..He receives
Rs.25,000 from Q Ltd. and Rs.10 lacs from holding company of Q Ltd.GST @18%



on Rs.25,000 will be paid by Q Ltd. Any additional liability will be borne by P.
Compute the total GST liability.

i) Z takes voluntary retirement from a private sector company. He gets Rs.25 lacs under
Voluntary Retirement Scheme.

Question 2

List any six goods which are exempt from GST by notification under CGST Act. Discuss
if the following services are chargeable to GST

a)
b)
c)
d)
e)
f)

9)
h)

i)

General insurance policy provided under Pradhan Mantri Suraksha Bima
Yojana.

Transportation of military equipment by railways

Services by way of collection of contribution under Atal Pension Yojana.
Transportation of passenger service provided by Indian Railways in first class.
Renting of school building to a management school which provides management
education recognized by UGC.

Bank draft charges collected by SBI for transferring money from Delhi to
Mumbai.

Job Work services in relation to cultivation of plants and rearing of animals.
Catering services to provide mid-day meals for students and teachers at Rs.170
per meal.

Services received by Government of India from a pollution consultant in
Germany.

Question 3

Explain the provisions under section 12 of IGST Act with regard to determination of
place of supply of services where the supplier and recipient are located in India.

Question 4

What is the Transaction Value? When will the value of supply be the transaction
value? Explain the provisions as to determination of value of supply where the
consideration is not wholly in money under Rule 27 and where the supply is made
between distinct persons or related persons under Rule 28.

Question 5

ABC Co., a partnership firm ,is in the business of manufacture of readymade
garments in Maharashtra. It submits the following information pertaining to March
2020:

1)

Input Tax Credit balance in Electronic Credit Ledger as on March 1,2020
a) IGST —Rs.2,00,000



b) CGST-Rs.95,000
c) SGST-Rs.93,500

2) Purchases ( i.e. Inward supply or goods/services for March 2020)

a) Supply of raw material received from X Ltd. Delhi ( Taxable value of
supply-Rs.50,000+GST @ 12%)-56,000

b) Supply of raw material received from Y Ltd. Mumbai ( Taxable value of
supply-Rs.1,00,000+GST @ 5%)-5,000

c) Rent of Mumbai office paid to Z Ltd. Bangalore ( Taxable value of
supply-Rs.30,000+GST @ 18%)-35,400

d) Rent of Mumbai factory paid to P Ltd. Nagpur ( Taxable value of supply-
Rs.90,000+GST @ 18%)-1,06,100

e) Packing material received from Q Ltd. Chennai ( Taxable value of supply-
Rs.10,000+GST @ 18%)-11,800

f) Consultancy fee paid to a local Chartered Accountant ( Taxable value of
supply-Rs.5,000+GST @ 18%)-5,900

3) Sales (i.e. Outward supply or goods/services for March 2020)
g) 1000 units supplied to R Ltd., New Delhi ( Taxable value of supply-
Rs.5,00,000+GST @ 18%)-5,90,000
h) 6000 units supplied to S Ltd., Mumbai ( Taxable value of supply before
10% discount-Rs.35,00,000+GST @ 18%)37,17,000

Compute the amount of GST payable through Electronic Cash Ledger for March
2020, giving the break up of CGST,SGST/UTGST and IGST. Assume that all the
conditions for availing Input Tax Credit are satisfied. However, 50% consultancy fee
is utilized for personal benefits of A, one of the partners of the firm.

Question 6

Compute the Custom Duty from the information given below in respect of goods
imported by Z Ltd. on March 1,2020

a) Free on Board value (FOB)-US$ 22,500

b) SBI buying rate of US 1 $- Rs.54

c) SBI selling rate of US 1 $- Rs.58

d) Exchange rate notified by Central Board of Indirect Taxes and Customs-Rs.52

e) Buying commission paid by Z Ltd.to its agent in USA for representing Z Ltd.

in the purchase of goods-US $ 450

f) Air fare- Rs.2,30,000

g) Insurance charges-Rs.45,000

h) Loading and handling charges-Rs,21,000

i) Basic Custom Duty-10%

j) IGST-18%



This question paper contains ...... printed pages Roll No. ............

Unique Paper Code 52417501

Name of the Paper Human Resource Management

Name of the Course B. Com

Mode Semester- V

Duration : 3 hours Maximum Marks 75 marks

Instructions for candidates

Note: Answer may be written either in English or in Hindi, but the same medium should be
used throughout the paper.

Attempt Any Four questions

All questions carry equal marks

“To be a successful HR professional, one must have excellent qualities of head and
heart”. Discuss the statement bringing out the qualities and competencies of HR
manager.

“There is no need for Human Resource Planning in organisations operating in India
due to widespread unemployment.” In the light of this statement explain the utility of
Human Resource Planning.

A great number of external sources are available for recruitment. Which tool will you
select? What points are to be considered in selecting a tool?

“You can’t develop managers. People either have the ability to manage or they
don’t.” Do you agree or disagree? Critically analyse the statement. Also discuss in
detail any two Off-the-Job Techniques of Management Development.

“Performance Appraisal is historical in nature while Potential Appraisal is futuristic.”
Elaborate. Which method of Performance Appraisal do you consider the best? Explain
the method giving justification.

What companies can do to ensure internal equity and external parity while deciding a
compensation policy? Why do the trade unions prefer the time wage system more
than the piece wage system?

-END-



SET-A

DEC.2020

B.Com. Sem-V(CBCYS)
Industrial Laws
52417508

Time: 3 Hours Max. Marks: 75

Note: Attempt any four questions out of the following. All questions carry equal marks.

Q. 1 Any amount paid to employee in cash is considered as basic wages under the Employees
Provident Funds and Miscellaneous Provisions Act, 1952. Do you agree? State your answer with
reasons.

Q. 2 What are the conditions to be observed by the recipients of sickness benefit under the
Employees State Insurance Act, 1948?

Q.3 Explain the term Wages as is used in the Payment of Wages Act 1936. What deductions can
an employer make while making payment of wages?

Q.4 What is the meaning of the term Salary/Wages under the Payment of Bonus Act, 19367 State
the employees who are entitled to bonus under the Act? Explain the circumstances when an
employee becomes disqualified to receive bonus.

Q.5 X is an employee in an establishment which is covered under the Payment of Gratuity Act,
1972. He committed theft during the course of his employment and consequently his service was
terminated by the employer. Decide in this connection after referring to the provisions of the
Payment of Gratuity Act,1972, whether payable to him shall be wholly or partially forfeited. Are
there any conditions required to be fulfilled for the forfeiture of gratuity?

Q.6 Explain the term ‘Permanent total disablement’ under the Employee Compensation
Act,1923.Also answer the following question:

An employee drawing an monthly wage of Rs 5,000 loses his thumb in an accident on 21* March
2019. He was born on 12" July, 1984. Calculate the amount of compensation payable to him
under the Employees’ Compensation Act,1923.



Unique Paper Code: 52417502

Name of the Paper: Principles of Marketing
Name of the Course: B.Com CBCS
Semester: V

Duration: 3 hours

Maximum Marks: 75 Marks

Attempt any four questions. All questions carry equal marks.

Q.1. A firm in the hospitality industry focuses on the traditional marketing mix and fails at the
market place. State most probable reasons for its failure taking an appropriate example from any
sector of your choice from the industry viz., hotels, travel and tourism, events and others

Q. 2. The marketing manager of a telecommunication company wants to scan the marketing
environment. Explain the economic and technological environmental factors that will affect his
marketing decisions.

Q. 3. Why is it important for marketers to study the behaviour of their customers? Discuss the
psychology of the consumer while he/ she make a purchase decision for fashion clothing and
accessories.

Q.4. A Furniture industrialist is a new player in the market. While deciding his pricing strategy,
the manager wants to seek your recommendation about choosing between Penetrating pricing
and Skimming pricing. Give your recommendations with reasoning.

Q.5. A marketing manager of a company has to formulate strategies to promote a new brand of
mid-sized automobile. Discuss the blend of the various promotion mix elements under the
Integrated Marketing Communication.

" Q.6. Discuss the factors that influence a marketer’s decision while choosing the logistics for the
sale of fine crystals and imported cars.
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SET-B

Unique Paper Code : 52415501

Name of the Paper : Principles of Micro Economics
Name of the Course : B.Com (P)

Semester : \Y

Duration : 3- Hours

Maximum Marks : 75-Marks

Note: -

The department of commerce does not offer this paper to B.Com (P) students. This paper is
offered to the students other than B.Com (P) as GE-paper as per CBCS Guidelines.

Instructions for Candidates.

1. All questions carry equals marks.
2. Attempt any four out of six questions.

1. Calculate price elasticity of demand for a movement from point B to point E and
from E point to B and midway between them. (18.75 Marks)

R

X Qx Point
0
100
200
300
400

mooOw>

P NWhk O

2. How Slutsky’s approach differ from Hicksian approach explain diagrammatically.
(18.75 Marks)

3. Calculate Total Fixed Cost. Total Variable Cost, Average Cost and Marginal Cost.
(18.75 Marks)

Output (Units) Total Cost
0 60
1 90
2 116
3 144
4 176

Explain short run and long run equilibrium under Monopoly Market (18.75 Marks)
Distinguish between perfect and imperfect competition. How are the price
determined under perfect competition (18.75 Marks)

6. Explain the concept of Economic Rent. Show how rent earned by a factor depends
upon the elasticity of supply of a factor. (18.75 Marks)
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University Of Delhi
Examination - Semester V
Course- B.com (P)
Subject- Traing and Development
Unique paper code- 52417507
MaximumMarks-75 Time- 3 Hours

Note- Attempt any five questions.

1. “Human resource management is the essence of management”, describe
the importance of HRM and training and development in the light of this
statement.

2. What do you understand by the term learning? What are the various
principles of learning?

3. Is it essential to identify the training needs? Explain the training need
assessment approaches?

4. “Training is process of making one skilled and it’s a circular process”, do
you agree describe the different phases/stages of training?

5. What do you mean by the term training evaluation? Write notes on ROI
method of evaluation and cost benefit method of evaluation?

6. Explain briefly the Learning in educational institutes and write a note on

curriculum development process.



7. Explain various Training challenges faced in India. Do you think

experiential learning is relevant in the present day challenges?



